Challenge 1. Challenge 2.

Max has 12 balloons. Amnir hgs 16 apples. Ron has none.
5 of the balloons burst. Amir gives Ron 9 apples.

How many are left? Who has the most apples now?

Max has 12 balloons. Explain how you know.
5 of the balloons are red.

There rest are blue,
\ How many blue balloons does Max have?

Look at the following objects.

C Max has 12 blue balloons and 5 red
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Which method would you use to solve
each problem? .
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Teddy works out these calculations.

What question could he have asked each
time?




